Xl

SRI LANKA

@ @0 OMMADOL GBRBG FIEHHNEG

&8i06 | - Sm®me - 2020 &®

es)i8» o

J8 o 102

(102) 151230829 O 3
E300)25025)C3

B G vendwden BE8w drsmdE
@0. 540, g5s Gortemdged gomsic B8 ©dw,
2900085380, eme® 05.

¢0=Ox: 011-2-559 669

0w BB ¥ FYG OO gored YPIGHES.




4 N
3 o) OMMIDOH BESBG eIEDHNEG
gL ¥ gneq BEO® ot
280 | Dwive - 2020 EE
(102) ©5530» 0FINGE 652 E30RD5IDEG
eni8m» cdmnd
\_ J

10 gBHG 5CH 668D cm6:

11

2050 S5HDBBD IO
g SmovmaX - 8%

DHHO0EE ©@DED LoHE BBIODBE

B (2) -28,000

1.2
8y+8 = 3(2y+8)
8y+8 = 6by+24

1.3 =  x(1+nr)
= 6,000 + (1+(3X 0.08))
6,000 (1.24)

= 7,440

wouvu u un
|

cseda (3) - 5i. 7,440

1.4 Q=Z—;x 100

34
= 67%

cB8mds (1) - 67%

100% - (70% + 22%) = 8%
3,200

3,200% %
28,000

(cmeq 03)

(cmeq 03)

(cmeq 03)
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15 X = 2%
n
(75+68+86+95+90) +x
83 =
6
83 X6 = 414 4+ x
498 — 414 = x
X = 84
comoe (3) - 84
(cae 03)
1.6 r = [nSXY-3X.5Y]
Ahsx- x nsy- v/
r = (7 X 310.5) — (70 X 30.6)
A7 x952-70?) (7 X 134.13 - 30.62)
r = 2,173.5-2,142
/ (6,664-4,900) (938.91- 936.36)
= 31.5
v (6,664-4,900) (938.91-936.36 )
= 31.5
67.06
= 0.4697
cBoa (4) - 0.4697 (e 03)
1.7 .
45+ 26 +8-X = 65
8 X =14
/
@dd’a(
g )

©2e3®08 e emic O @ifcied eide BE BEOEeNn edinedsl etidn BE

glocewnn Je® w®®idmda

14
26
cmow (3)

26

(cme 03)

®
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1.8 A = SR"(R-1)

R"-1
A = 500,000 x1.1*(1.1-1)
1.1%1
A = 500,000 x 1.4641X 0.1
1.4641-1
A = 73,205
0.4641
A = 157,735
ODE OGS
A = 500,000
Cum DCF 10%
A = 500,000
3.1698
A = 157,735

cowde (2) o¢. 157,735/-

(e 03)
1.9 S =X{1+r/N)VN
63,339 = X X (1 +0.12/4)%*4
x _ 63339
1.038
= 50,000
r = e epemas N = om0 ¢(Bmcebdode
X = Ob»@» oo N = o0z o
e®s
S=X{ 1+r}"
r = =090m o€ amesimes
n = »by oe®
S = X{1+r}"
63,339 = X(1+0.03)®
X = 63,339
1.03°
= 50,000
cBmoe (2) - oi. 50,000/- (cne 03)
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110 T =198x+ 841
X8 evs 20208 7 0» 80

T = (198 X 7) + 84
T =2,227

comoa (3) - 6.2,227/- (cmem 03)
1.11
A —> 3
B ——> 4
cC —— 1
D —> 2 (o 02)
1.12
Beq® Joo @18 ewi8mc gBama (%) 20O OB
=3 ©eHD
30 30 _ 0
18 18 _ 0
Bo®® @@@ 18 ﬁ X 100 = 25% E x 360 = 90
24 24 _ 0
005 muzien 24 =% 100 = 33.4% 72 %360 =120
o) 72 100% 360
Beq® OYo
33.4% g 950 590 Ba®
B0  mston
B &Ho® @@@
(cres 02)
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113  P(AUB) = P(A) + P(B) — P(AN B)
0.72  =0.60+0.30 —P(ANB)
P(ANB) = 0.9 —0.72
P(ANB) =0.18

(cre 02)

1.14 25583 (cryes 01)
1.15 ceosd (cryes 01)
(8© cne 40)

A G208 gOeszas
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2 D FHNEG SCH) 6EISED EHMO:
(a)

‘(’58@@5905 01 - §B» 0&» sodEs oo §eLbE

W+2¥=17 > (1)
X+5Y=26 > (2)

(1) X 2 ==6X + 4y = 34 >(3)
{2) ¥ 3 ==6X + 15¥= 728 >(4)
(4)-(3) == 11Y = 44
== Y = a
Y=4
(1) =>  3x+(2%4) = 17
3x = 17-8
ax = 9
X=3
(e 04)
(b)
‘2588@&;@ 01 - §B» 0&E» smEs oo LB ‘
889s d¢. 100/- »®
880 + 9803 = Snea® B¢
100 20 120
48,000
e®sed Bdsigm 88Dws = %g X 48,000
= 140,000 (cmeq 02)
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(c)

‘(’58@@5965 01-9B» ©HBD oEs e ELL®

3x+2y<12—> (1) x+2y<6 —>(2)
X=066 e ) y=6(0,6) x=0 <0 =0 , y=3(0,3)
y:O ©0 30 , X:4(4'0) y=0 @0 »® , X:6(6,0)
L
6 3x+2y<12
3 Ps Benes amumn ©90®
/ /j/ 2 X+2y<6

-

4 6
/ (cne 03)
(cne 01)
(@dcne 10)
3 O gBm™G BSEW) 6GIED cRMO:
‘ 8800w 03 - Dw1end &¢I G5 21 E@eGO B8O T
(a)
TR=pXxq (2CE® * u®ierw) p =1000 - 2q
TR = (1000 - 2q) X q
TR = 1000q - 22
TC = VC+FC (3ocs 8389(c + &do 83s)
TC = 3g’+100q + 800 (e 03)

(b) o o« (TP)=TR-TC
TP =TR-TC

TP = (1000q - 2g?) — (3g® + 100q + 800)
TP = 1000q — 2q% — 3q% — 100q — 800

TP =900g- 5g — 800

or
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= 180g- ¢* — 160

(c) D(Tp) = 180-2q or 900-10q

Dq

D? (Tp)
Dq

e csd®

-2<0

D0 T2 ©H™

v@mme Se® SncEs »ow

TR =1000q - 2q

MR = 1000

TC
MC

_4q

800 + 100g+3q°
100 + 69

MR = MC 2000098 v ¢cxd® ed

1000 — 4q
X =

=100 + 6q
90

4 D) FHNEG SCH) 6GISD cOMNO:

=>180-2q=0

(ce 03)

(cmeq 04)
(§ecnes 10)

‘ u8Dedecw 05 - YO1e0030m DOES 0es wowsicmw S3@

(a)

X y x? Xy
44 550 1,936 24,200
29 480 841 13,920
74 630 5,476 46,620
12 230 144 2,760
9 240 81 2,160
50 610 2,500 30,500
218 2,740 | 10,978 120,160
b = NYxXy-3>x.3y
(nsx- (%))
b = (6 X 120,160) — (218 X 2,740)
(6 X 10,978) — (218)*
b = 720,960 — 597,320

65,868 -47,524
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b = 123,640
18,344
b = 6.74
a =Y-bX
=22 — [6.7401 x =]

456.67-244.89
211.78

28O D86 ySmin ebad;
Y = a+ ba

Y 211.78 + 6.74x (cwe 07)

(b) y&sen BSec® (. 40,000/-.
Y = 211.78 + 6.74x

X =40 0 epecen BCe®s3

Y = 211.78+ 6.74 (40)
= 481.38
Y = 481,380
20l Dner® dS»1® = 1. 481,380/- (cne 03)
(9o cne 10)
5 9% gHHG S 66ISD EHMO:
lo6Bedecs 04 - cfp 988t B89 e Sedorndm Fxé
dg83 wicw (@83n) | eas evw (X) | wdsma (f) J® F(xf
10-19 14.5 15 217.5 3,153.75
20-29 245 9 220.5 5,402.25
30-39 345 30 1,035 35,707.5
40-49 44.5 14 623 27,723.5
50-59 54.5 12 654 35,643
3f=80 Sfx=2,750 | 3fx*"107,630
2002 @8 DT2DO c3en GHIDW@ PITDEGIC CRI DD D2D.
(a) @smmwa (Mean) = 3f(x)
Sf
= 2,750
80
= 34.375 (c=g 04)
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2
(a) 00 auo®ma (Standard Deviation) = 2 [x [x]?

= / 107,630 - [34.3752]
80

= \/ 1,345.375-1,181.64

\/ 163.73

2.7 (c=eg 04)

1]
=
(-]

(b) BDEm eoqenme (Co-efficient of variation) (V)

208 2s0®mxX 100%
®WBBBE

12.79
x 100
34.375

37.2% (cneq 02)
(80 c=eq 10)

B @108 edesiznas
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(A)  |088edews 02- Osseno eseen es ododd
(@ (i)

| CF DF @15% PV
0 (150,000) - 1 (150,000)
1 - 70,000 0.870 60,900
2 - 85,000 0.756 64,260
3 - 50,000 0.658 32,900
4 NPV=8,060
Q0 Obp@i» avs = 8,060 (e 04)

(b) OisBed @il OEm@I» eon Ve annS O3
VOB BCIE DB eE FIeBEIEDE DE DID. (cae 02)

(B) |e88edccs 07 -cbme w0 gedtmlz)

Po do Pi Podo P1qo
X 20 250 30 5,000 7,500
Y 18 130 25 2,340 3,250
Z 40 180 50 7,200 9,000
14,540 19,750
X
ciedBael 8¢ (eme (LPy) = M %100
z (P x o)
= 19,750 X 100%
14,540
= 135.83% (cres 04)
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(C) |e6Bedecs 6- e3@0808 9 38010 DI0d @c3c®

(a)
(i)
838 o8

N

45
100

B

=11
o0

7

o €08

B - 838 goews 5®
G - o c®owss 8®

(ii) e5®e8 003

Byedn Svivs ©05De® 088500 35%5.

15

45—

30 -

45

20

35

=1

(iii) emic © Bvsvenrny vy &

P (BP) —x2

45

F(BF) —=x=

100 45

P (GP) —=x=

100 35

F (GF) =x=

100 55

P —Beoios 205 3®
F—8wins awues 5© (caeq 03)

P (B,P) + P (G,P)

45

100

15
100

35

=
o

0

D06 ¢e@Oed® ®®IDmIDE

e®»]

45 100 55

15 55 20
— 4+ X —

20
100

(cneq 02)
_ 30
- 45
= 2
3
(c=eg 02)
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(b) X = mdwmo; D823 v B BS wexpr 8B 300 2O Dt &8 DICHS ©1BNe® wBIDHNDG 85y

u=240 o =40
VA = X -u

o
z = X - 240

40
z = 300-240

40

= 60

40

Z = 45
0.4332
0.5
X
240 300
z
0 +15

Pr(X<300) = 0.5-0.4332

0.6668 or 93.32%

OO B Hdwes RO BB wepr SRFy 300 O Do @8 ICEH 0 Re® wd®VIDHIOG
93.32%

(cme 03)

(80 cmem 20)
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Notice:

These answers complied and issued by the Education and Training Division of AAT Sri Lanka
constitute part and parcel of study material for AAT students.

These should be understood as Suggested Answers to question set at AAT Examinations and should
not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The
fundamental objective of this publication is to add completeness to its series of study texts, designs
especially for the benefit of those students who are engaged in self-studies. These are intended to
assist them with the exploration of the relevant subject matter and further enhance their understanding
as well as stay relevant in the art of answering questions at examination level.

© 2020 by the Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka). All rights
reserved. No part of this document may be reproduced or transmitted in any form or by any means,
electronic, mechanical, photocopying, recording or otherwise without prior written permission of the
Association of Accounting Technicians of Sri Lanka (AAT Sri Lanka)
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